AP Chemistry




Name _____________________________
Worksheet – Stoichiometry # 1
1. A portable hydrogen generator uses the reaction:

__ CaH2 + __ H2O ( __ Ca(OH)2 + __ H2 
a) How many grams of H2 can be produced by a 50 gram sample of CaH2 ?

b) If 450 grams of CaH2 and 380 grams of water are used, which is in excess and by how much ?  (in grams) 

c) In Part b, how much of each product is produced ?  (in grams)

d) For each of the amounts used below, tell which is in excess and by how much ?  Your answers should be in grams.

grams of CaH2          grams of H2O
      excess

  how much

1)
      20


        5


__________

__________

2)
      20

 
       10

__________

__________

3)
      20


       15

__________

__________

4)
      20


       20

__________

__________

5)
      20


       25

__________

__________

6)
      20


       35

__________

__________
